CTAE&=EA, 98 SERAM R, R TH)




DIN912

A LA A LA LA LA A A LA LA
M3*6 M4*8 M5*8 M6*10 M8*12 MI10*16 M12%20 M14%*25 M16*25 M20%*40
M3*8 M4*10 M5*10 M6*12 M8*14 MI10*18 M12%22 M14%*30 M16*30 M20%*45
M3*10 M4*12 M5*12 M6*14 M8*16 M10*20 M12*25 M14%*35 M16*35 M20*50
M3*12 M4*14 M5*14 M6*16 M8*18 M10%*22 M12%*30 M14*40 M16*40 M20%*55
M3*14 M4*16 M5*16 M6*18 M8*20 M10*25 M12*35 M14*45 M16*45 M20*60
M3*16 M4*18 M5*18 M6*20 M8*22 M10*30 M12*40 M14*50 M16*50 M20*65
M3*18 M4*20 M5*20 M6*22 M8*25 M10*35 M12*45 M14%*55 M16*55 M20*70
M3*20 M4*22 M5*22 M6*25 M8*30 M10*40 M12*50 M14*60 M16*60 M20*75
M3*22 M4*25 M5*25 M6*30 M8*35 M10%*45 M12%*55 M14*65 M16*65 M20*80
M3*25 M4*30 M5*30 M6*35 M8*40 M10*50 M12*60 M14*70 M16*70 M20%*85
M3*30 M4*35 M5*35 M6*40 M8*45 M10*55 M12*65 M14*75 M16*75 M20*90
M3*35 M4*40 M5*40 M6*45 M8*50 M10*60 M12*70 M14*80 M16*80 M20%*95
M3*40 M4*45 M5*45 M6*50 M8*55 M10*65 M12*75 M14*85 M16*85 M20*100
M4*50 M5*50 M6*55 M8*60 M10*70 M12*80 M14*90 M16*90 M20*110
M5*55 M6*60 M8*65 M10*75 M12*85 M14%95 M16*95 M20*120
M5*60 M6*65 M8*70 M10*80 M12*90 M14*100 M16*100 M20*130
M6*70 M8*75 M10*85 M12*100 M14*110 M16*110 M20*140
M6*75 M8*80 M10*90 M12*110 M14*120 M16*120 M20*150
M6*80 M8*85 M10*95 M12*120 M14*130 M16*130
M6*85 M8*90 M10*100 M12*130 M14*140 M16*140
M6*90 M8*95 M10*110 M12*140 M14*150 M16*150
M6*95 M8*100 M10*120 M12*150
M6*100 M8*110 M10*130
M6*110 M8*120 M10*140
M6*120 M8*130 M10*150
M6*130 M8*140
M6*140 M8*150
M6*150

ISO7380




A& M3 M4 M5 M6 M8 M10 M12
7 J8] 3B 0.5 0.7 0.8 1 1. 25 1.5 1.75
SRV DR IN 2 2.5 3 4 5 6 8

A 7 A FL %, min 1. 04 1.3 1. 56 2. 08 2.6 3.12 4.16
7] 3k 42, min 5.7 7.6 9.5 10.5 14 17.5 21
3k B ,max 1. 65 2.2 2.75 3.3 4. 4 5.5 6. 6
DIN7991

A M3 M4 M5 M6 M8 M10 M12
O 8] B 0.5 0.7 0.8 1 1.25 1.5 1. 75
SRV BRI 2 2.5 3 4 5 6 8

A 7~ A FLE, min 0. 95 1. 55 2. 05 2. 25 3.2 4.1 4.3
B 3k 42 ,min 6 8 10 12 18 20 24
3L B max 1.7 2.3 2.8 3.3 4. 4 5.5 6.5
KE s s

DIN916/DIN913

M AE M3 M4 M5 M6 M8 M10

7 J8] 3B 0.5 0.7 0.8 1 1. 25 1.5

SRV PSRN 1.5 2 2.5 3 4 5

A 7< A FL %, min 1.2 1.5 2 2 3 4

RFRICGA R ERICK LTS ? RAUAZR - ABERFREXTEETAT

w111




NABEABRA LW

n@Er BTIMEREEQN ax@Esex| ST MEREEQT)
XKE) | r#Es A b2 A KE) T 42 4 A b2 A
M10X30 |29 40 M14 X80 117 142
M10X40 |35 46 M14 X90 129 154
M10X50 |41 H2 M16 X 40 92 126
M10X60 |47 H8 M16 X 50 106 140
M12X30 |41 7 M16 X 60 122 156
M12X40 |49 65 M16 X 70 138 172
M12X50 |58 74 M16 X80 154 188
M12X60 |67 83 M16 X90 170 204
M12X70 |76 92 M16 X100 185 219
M12 X80 |85 101 M20 X 50 183 245
M14X40 |69 94 M20 X 60 205 207
M14X50 |81 106 M20 X 70 230 292
M14X60 |93 118 M20 X80 255 317
M14X70 |105 130 M20 X 90 279 341
M20 X100 |304 366 M22 X160 |548 624




M20 X110 |329 391 M24 X 80 388 500
M20 X120 354 416 M24 X 90 424 536
M20 X130 |378 440 M24 X100 459 571
M22 X60 250 326 M24 X110 495 607
M22 X770 280 356 M24 X120 |531 643
M22 X80 |310 386 M24 X130 |566 678
M22X90 339 415 M24 X140 602 714
M22 X100 |369 445 M24 X150 637 749
M22 X110 399 475 M24 X160 673 785
M22 X120 429 505 M27 X380 519 687
M22 X130 |459 539 M27 X90 564 732
M22 X140 489 065 M27 X100 609 7
M22 X150 |519 595 M27 X110 |654 822
M27 X120 699 867 M30 X170 1154 1388
M27 X130 744 912 M30X180 |1210 1444
M27 X140 |789 957 M30 X190 |1266 1500
M27 X150 |834 1002 M30 X200 1322 1556
M27 X160 |879 1047 M30 X210 1378 1612
M27 X170 924 1092 M30 X220 1434 1868




M27 X180 969 1137 M36 X110 |1246 1617
M30 X100 765 999 M36 X120 |1326 1697
M30 X110 |820 1054 M36 X130 1406 1777
M30 X120 875 1109 M36 X140 |1486 1857
M30 X130 (931 1165 M36 X150 |1566 1937
M30 X140 986 1220 M36 X160 |1646 2021
M30 X150 1042 1276 M36 X170 |1726 2097
M30 X160 |1098 1332 M36 X180 |1806 2177
M36 X190 | 1886 2257 M42 X230 3095 3694
M36 X200 |1966 2337 M42 X240 3204 3803
M36 X210 |2046 2417 M42 X250 3313 3912
M36 X220 2126 2497 M48 X150 3005 3962
M36 X230 2206 2577 M48 X160 3147 4104
M36 X240 |2286 2697 M48 X170 3289 4246
M42 X150 |2223 2822 M48 X180 3431 4388
M42 X160 2332 2931 M48 X190 3573 4530
M42 X170 2441 3040 M48 X200 3715 4672
M42 X180 2550 3149 M48 X210 3897 4814
M42 X190 2659 3258 M48 X220 3999 4956




M42 X200 |2768 3367 M48 X230 4141 5098
M42 X210 |2877 3476 M48 X240 4283 5240
M42 X220 2986 3585 M48 X250 4432 5389
M48 X260 4574 5531 M48 X280 4858 o815
M48 X300 5142 6099

NA BB RETHNALTRAREZN, E2 M Ly X A A XCEBE, 2T EF <
AERABRRITE, BER T REMEAARXCE ARG LA, UESZTF,

N A REAR B N A LR, N AR AL — X & 0L SH3404. HG20613. HG20634 %,

7SR R AL BT A AR, AXENFEATAE

NABRAARA ST




GFNMBLEF () T NEREE (M)
s (H 12 HAs (B X
XK ) 9:9
THEE | ARG THEEE | w48

M10X30 29 40 M14 X80 117 142
M10X40 |35 46 M14 X90 129 154
M10X50 |41 52 M16 X40 92 126
M10X60 47 58 M16 X 50 106 140
M12X30 |41 o7 M16 X 60 122 156
M12X40 49 65 M16 X 70 138 172
M12X50 58 74 M16 X80 154 188
M12X60 |67 83 M16 X90 170 204
M12X70 |76 92 M16 X100 |185 219
M12 X80 |85 101 M20 X 50 183 245
M14X40 |69 94 M20 X 60 205 267
M14X50 |81 106 M20 X 70 230 292
M14X60 93 118 M20 X80 205 317
M14X70 |105 130 M20 X 90 279 341
M20 X100 |304 366 M22 X160 |548 624
M20 X110 329 391 M24 X 80 388 500




M20 X120 354 416 M24 X90 424 536
M20 X130 |378 440 M24 X100 459 071
M22 X60 250 326 M24 X110 495 607
M22 X70 280 356 M24 X120 |531 643
M22 X80 310 386 M24 X130 |566 678
M22 X90 339 415 M24 X140 602 714
M22 X100 |369 445 M24 X150 637 749
M22 X110 399 475 M24 X160 673 785
M22 X120 429 005 M27 X80 519 687
M22 X130 459 539 M27 X90 564 132
M22 X140 489 565 M27 X100 609 7
M22 X150 519 095 M27 X110 |654 822
M27 X120 699 867 M30 X170 1154 1388
M27 X130 744 912 M30 X180 |1210 1444
M27 X140 |789 957 M30X190 |1266 1500
M27 X150 834 1002 M30 X200 1322 1556
M27 X160 |879 1047 M30 X210 1378 1612
M27 X170 924 1092 M30 X220 1434 1868
M27 X180 969 1137 M36 X110 |1246 1617




100 |765 999 M36 X120 |1326 1697
M30 X110 |820 1054 M36 X130 |1406 1777
M30 X120 875 1109 M36 X140 1486 1857
M30 X130 931 1165 M36 X150 |1566 1937
M30 X140 986 1220 M36 X160 |1646 2021
M30 X150 1042 1276 M36 X170 |1726 2097
M30 X160 |1098 1332 M36 X180 |1806 2177
M36 X190 | 1886 2257 M42 X230 3095 3694
M36 X200 |1966 2337 M42 X240 3204 3803
M36 X210 2046 2417 M42 X250 3313 3912
M36 X220 2126 2497 M48 X150 3005 3962
M36 X230 2206 2577 M48 X160 3147 4104
M36 X240 |2286 2657 M48 X170 3289 4246
M42 X150 |2223 2822 M48 X180 |3431 4388
M42 X160 2332 2931 M48 X190 3573 4530
M42 X170 2441 3040 M48 X200 3715 4672
M42 X180 2550 3149 M48 X210 3897 4814
M42 X190 2699 3258 M48 X220 3999 4956
M42 X200 |2768 3367 M48 X230 4141 5098




210 |2877 3476 M48 X240 4283 5240
M42 X220 2986 3585 M48 X250 4432 5389
M48 X260 4574 5531 M48 X280 4858 o815
M48 X300 5142 6099

RET AL

JRAT AS 3%

@O KWBELME CRIAAE) « o Rl A B A

NHMES —~ HRAABEE 2:2.3 5 2.5

2.6 ; 2.9

10 ; 12

3. 1

3.5 3 4 ; 4.2 ; 4.5

;145165 20 fifé'—’ﬁ/‘_ mm(%%]’i) °

HHEBEL —  E A ARA 2,44, 64; 84 104; 124#;1/4;7/32;5/16;3/8; L16; 3/4 . #AL in (&

@ T/ T

RPN

FHEX — —HF (254mm) KEFH A T LA

FHRRX — MHE<RPTEESUE By (8] [ 1E

TH. THEBRE —

@RMKE: 7ol A0 FF AR

NHIARKE —

FH=1 £/F%

21,

W EH 5. 6. 6.5 7. 8. 9. 9.5 10.

11, 12,

13. 14, 15, 16, 18. 19, 20,

25, 28, 30, 31. 32, 35. 40, 42, 45. 50, 55, 60,

4.8

65 .

r

(



PLEAB AR SRR TS, AW RSB —FEHNE.
B RREAER4A, BiH: https://d. book118. com/94504100111

0011321


https://d.book118.com/945041001110011321
https://d.book118.com/945041001110011321

